Question 1. (8 points) Which of the following are the graph of a function? Circle all that
apply.
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Question 2. (4 points) The graph of a function h(zx) is given by:
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Which of the following could be the graph of g(z) = —h(z — 1) + 1? Circle one.
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Question 3. (5 points) Which of the following are equal to the function f(x) = 3z + 1 with
the domain of all real numbers? Circle all that apply.

{a\oSo\U\k, volwe does noF wmaan

iy “oke AW af e minus 533'\5 i
g2(7) = 3xr + 3 — 2 with the domain of all real numbers — s\M‘;\;FY

.,(_T) . {3"‘“ fr£0  § g4nd 43 are wal at all x ~values in the
e 1 if r =0 Aomo\‘m, So ‘\'\’\l;\, ae ‘W\e__ saww- Nole > £(0)=l=33(0>

(D) gu(z) = {3.r+ 1 ifr#0 D ~940), {-ke,( ore. ot e sewme fncion.

2 fr=0

(A) g1(x) = [3x — 1| with the domain of all real numbers

(E) 95(x) = 3z + 1 with the domain [0, 50)
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a) (3 points) What is the largest domain for the function 9(x) = V22 + 1 + 3 such that it
is defined and produces a real number? Write your answer in interval notation.
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b) (3 points) What is the range of g corresponding to this domain? Write your answer in
interval notation.
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Question 5.

a) (6 points) What real values of = satisfy the inequality |z +2| < 3?7 Write your answer in
interval notation.

~3< x+2< 3

-5 < x <\
shhck inequalihy, so
evxé\sb\vy:@ no:\i{ wduded.

Tnienal notodion: l<;6; ‘2)'

(b)) (10 points) What real values of r satisfy the following equation? S?‘H' o Y‘CZS] owns+

|z +5|+lr+2/ =9
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Question 6.

a) (5 points) What is the equation of the line that passes through (—2,1) and (4, -3)?
S| oo 32l o-4 . =2
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b) (5 points) What is the equation of the line perpendicular to the line given by
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and whieh crosses the y-axis at height —7? ¢— e V\b
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Question 7.

a) (6 points)

What is the vertex of the parabola defined by y = 2?2 — 8z + 147
l’\(&\\aﬁ'\' oC lou&f“* ?o.\V\'\‘ on ‘“«L TCFO&M&
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b) (6 points) At what point(s), if any, does the above parabola cross the z-axis (i.e. what
are the roots of the equation)?

Cﬂa%'\wg)(’ﬁdds == N =0.
Must solve: O=x>-8x+14

Com either use c]\,m&m’n"c Soeman G, or CO\N\?\{"H,\S
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See

0= &) -2
2 =(x-Y )
Hz =x-4

qx{z = ;}
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( Question 8.

a) (3 poihfs)”)’\/’hat is the equation of the circle defined as the set of points (z,y) in the
plane that are distance 3 from the point (-2, 8)?

G 2)2+ (- 8)% = 22

b) (1 point) What is the circumference of this circle?
C=27r , the rodius v=3

je=én)

c) (1 point) What is the area of this circle?
- 2z
A=y

\ A=qr)
points) If I stretched this circle by a factor of 3 in the horizontal direction and a factor
\ of 2 in the vertical direction, what would the area of this new shape be?
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Question 9. (3 points per graph; 12 points total) Sketch the following. Your sketch does

not need to be precise, but it should capture the overall behavior of the graph. Label the
coordinates of the vertex on each graph.
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